TR 16 E

B L CIEHKE,
S 5 gy DILE - COD¥ER! |B(H#m) MILTEE (TEBEX)
i St.1 |22 3 - IR R I GBI ) KBRS EE ()
—RIEE _
Kig (°C)
Xz %R (°C) =RE e 2KE il iR =Xz R
58 BEh 24.2 21.2 21.3 15.0 5.0 BE xE-h |
78] ®Bh 30.4 27.5 27.0 9.5 35 BE xEfR-h| &S
98 £ 30.8 27.2 26.6 6.5 3.0 BE ZE-mh mR
11BlEsg—mEh]l 205 21.9 21.8 10.5 35 BE xE-h mR
18 BEh 10.4 16.5 16.2 7.0 5.5 BE k- &R
3A|mnkEEY] 104 11.3 13.0 7.0 45 BE | FHf-h| #®E
4FRRIFIER
oH DO COD |XBEHH |h-~FHUH 2L=H EX ]
(mg/1) (mg/1) | (MPN/100ml) | EH¥IE (me/l)]  (mg/I) (mg/1)
RElE| 1.8~83] 5.0LLE | 30LLF — R H 0.6LLF | 0.05LLF
EHIE(75%1E) - 7.9 1.7(1.8) - <0.5 0.15 0.011
58 =E 8.2 8.3 2.0 - <05 0.16 0.006
IE 8.2 8.6 1.8 - - - -
78 == 8.2 7.4 2.0 - <0.5 0.15 0.010
IE 8.3 75 2.4 - - - -
oF == 7.9 6.4 1.7 - <0.5 - -
IE 8.2 7.6 0.9 - - - -
118 == 8.3 8.9 1.7 - <0.5 0.10 0.007
IE 8.3 8.8 1.2 - - - -
1A == 8.2 7.4 0.8 - <0.5 0.17 0.022
IE 8.2 7.7 1.7 - - - -
3H == 7.8 8.2 2.0 - <0.5 - -
th 8.1 8.0 1.7 - - - -
BEIEE (REDHEHAD
LIS INESS S E ANE/RL| #MFE ke |7L*LKkER| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#(E] 0.01LLTF | JE#H | 0.01LLF | 0.05LLF | 0.01LLF [0.0005LLTF | FE#EH JERRH |
E <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 - -
58 - - - - - - - -
78| <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 - -
98 - - - - - - - -
118 - - - - - - - -
18] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 - -
38 - - - - - - - -
ynni| mige [1,2-0900( 1,1-C4an [ z-1,2-C4(1,1,1-F)40] 1,1,2-ry4a | FJoAA
a2 o IAaY IFLY | AaxTFLY oT4ay oT4y IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B (] 0.02LLF [0.00260F | 0.004LLF | 0.02ELF [ 0.04LLF 1LLF 0.006 LLF | 0.03LLF
I <0.002 [ <0.0002 [ <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
58 - - - - - - - -
78] <0002 [ <0.0002 | <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
98 - - - - - - - -
118 - - - - - - - -
18] <0.002 | <0.0002 | <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
38 - - - - - - - -




Fr34H0n0(1,3-o450 = SN FAAY TNTR . WREEREY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B#E{E] 0.01LLF | 0.002LLF [ 0.006 LF [ 0.003LLF | 0.02LLF 0.01LLF 0.01LLF 10LLF
o <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.08
5H - - - - - - - -
78 <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.05
9H - - - - - - - -
118 - - - - - - - -
18 <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.11
3H - - - — - - - -
ZTNDIEE
Jx/—)L V) SS 2mR |soofns| e
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
RE - - 2 - - -
5H ; E — — 2 — — —
= - - 2 - - -
7H ;E _ _ 2 _ — —
=] _ _ 2 _ _ _
9AH ; E — — 3 — — —
=] _ _ 2 _ _ _
=] _ _ 3 _ _ _
1 ﬁ ;E _ _ -I — _ —
—_ —_ 2 —_ —_ —_
3 [=]
H hE - = 2 - - -
(4] BN . .
(mg/1) (mg/1) (mg/1)
SEBIE] 17000 0.02 0.01
58 E3E] 18000 - <0.01
B 18000 — -
78 AL 17000 <0.01 <0.01
th B 18000 — -
9K AL 14000 — -
B 17000 — -
118 AL 17000 - <0.01
B 18000 — -
18 AL 18000 0.02 0.02
B 18000 — -
=E 9300 - -
3A g 18000 - -




FERE 164 E

B L CIE DK,
2 gy DILE - COD¥EH! |B(f#BhR) I TEE (TEBEX)
§ St.2 |22 - Im B I (H ) KBRS EE ()
—RIEE _
Kig (°C)
Xz %R (°C) =RE e 2KE il iR =Xz R
58 BEh 23.8 21.6 — 18.0 5.5 BE xE-h mR
78 BEh 30.2 26.3 — 16.5 5.5 BE xE-h |
9H £l 30.3 26.4 — 15.0 3.0 BE e mR
MAES—BEA 202 21.8 - 16.5 5.5 BE ZE-mh mR
18 BEh 10.4 16.8 — 16.5 6.0 BE k- &S
SABENnE&EEY 87 12.2 - 16.5 5.0 BE  ([ERf-h| #ES
4FRRIFIER
oH DO COD |XBEHHE |h-~FHUH 22X EX ]
(mg/1) (mg/1) | (MPN/100ml) | EH¥I & (me/l)]  (mg/I) (mg/1)
RElE| 1.8~83] 5.0LLE | 30LLF — R H 0.6LLF | 0.05LLF
EHIE(75%1E) - 7.6 1.5(1.7) - <0.5 0.15 0.011
55 == 8.2 8.1 2.4 - <05 0.15 0.005
hE - - - - - - -
78 EAC 8.3 7.8 1.0 - <0.5 0.03 0.006
hE - - - - - - -
oF == 8.2 8.0 1.6 - <0.5 0.22 0.014
hE - - - - - - -
118 == 8.3 8.4 1.7 - <0.5 0.09 0.008
hE - - - - - - -
1A == 8.2 7.4 0.8 - <0.5 0.19 0.020
hE - - - - - - -
3H EAE 8.1 5.9 1.3 - <0.5 0.24 0.011
hE - - - - - - -
BERIEE (REDHEHAD
I INESS S E ANE/RL|  #MFE fikéR |7L*LKkER| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#(E] 0.01LLTF | JE#H | 0.01LLF | 0.05LLF | 0.01LLF [0.0005LLTF | 3FE#EH JERH |
S'Z - - - - - - - -
58 - - - - - - - -
71H - - - - - - - -
98 - - - - - - - -
118 - - - - - - - -
18 - - - - - - - -
38 - - - - - - - -
ynni| mige [1,2-0900( 1,1-C4an [ z-1,2-4(1,1,1-F)40] 1,1,2-ry4a | BJoAA
a o IAaY IFLY | AaxTFLY oT4ay oT4y IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B (] 0.02LLF [0.00260F | 0.004LLF | 0.02ELF [ 0.04LLF 1LLF 0.006LLF [ 0.03LLF
:'Z _ _ — — — — — —
58 - - - - - - - -
71H - - - - - - - -
98 - - - - - - - -
118 - - - - - - - -
18 - - - - - - - -
38 - - - - - - - -




Fh34900|1,3-4-0 = . aoo ~ TN .
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| BE#E{E] 0.01LLF | 0.002LLF [ 0.006 LF [ 0.003LLF | 0.02LLF 0.01LLF 0.01LLF 10LLF
SF — — — — — — — —
5H - - - - - - - -
18 - - - - - - - -
9H - - - - - - - -
Al - - - - = - - -
1Al - - - - - - - -
3H - - - - - - - -
ZTDHIEE
Jz/— A SS 2mR |soofns| s
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EHE - - 2 - - -
RE - - 3 - - -
5ﬁ ;E _ _ _ _ _ —
=] _ _ 1 _ _ _
R o : - : :
=] _ _ 5 _ _ _
gﬁ ;E _ _ _ _ _ —
=] _ _ 2 _ _ _
1 1 ﬁ ;E _ _ _ _ - —
=] _ _ 1 _ _ _
1A i - : :
=] _ _ 1 _ _ _
3H g — — — - - —
alch | BEEE | omene
(mg/1) (mg/1) (mg/1)
FEHE| 18000 - 0.01
58 EE] 18000 - <0.01
= 18000 - <0.01
7R ; E — — =
= 17000 - -
= 18000 - <0.01
118 th — — —
18 xE 18000 - 0.02
= 18000 - -
3H g ~ — -



FRE16EE

B L CIEH KB,
S T4 EiEsE — COD#EH |AE#ER) ML TEE (DD RXIE)
i St.3 |- SR 1 GEEIR) REKEREEE (Z)
—RIEE _
KR (°C)
Xz %R (°C) =RE e 2KE 75 B FE TR =X 2=
58 BEh 22.1 20.8 20.5 21.0 8.0 BE xE-h mR
78 BEh 29.9 25.4 25.2 21.0 5.0 BE e mR
98 £ 28.6 25.9 25.3 18.0 35 BE xE-h mR
11Ale2—mEn] 195 21.0 21.1 16.0 45 BE xE-h me
18 BEh 11.0 17.0 17.0 20.0 7.0 BE k- &R
3A|mnrEEY] 8.1 12.3 12.1 19.5 6.0 BE | Bt #®E
4FRIFIER
oH DO COD |XBEHH |h-~FHUH 2=TH Ex ]
(mg/1) (mg/1) | (MPN/100ml) | EH¥I & (me/l)]  (mg/I) (mg/1)
= %(8| 7.8~83| 75LLE | 20LLF | 1000LLF | JEMRiH 0.3LLF | 0.03LLF
EE(75%1E) - 7.8 1.4(1.7) 0.0 <0.5 0.12 0.009
58 == 8.2 8.0 1.4 - <05 0.16 0.006
IE 8.2 7.9 1.3 - - - -
718 == 8.2 7.2 2.2 0.0 <0.5 0.10 0.005
IE 8.2 7.1 1.8 - - - -
oF == 8.2 7.7 1.3 - <0.5 - -
IE 8.2 75 1.4 - - - -
118 == 8.3 8.3 1.7 - <0.5 0.09 0.005
IE 8.3 8.0 1.7 - - - -
1A == 8.2 7.6 1.3 0.0 <0.5 0.14 0.019
IE 8.2 7.6 1.3 - - - -
3H == 8.1 8.3 0.6 - <0.5 - -
B 8.1 7.8 0.8 - - - -
BEIEE (REDHEHAD
LIS INESS E ANE/RL| #MFE fikER |7L*LKkER| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#(E] 0.01LLTF | JE#H | 0.01LLF | 0.05LLF | 0.01LLF [0.0005LLTF | FE#EH JERRH |
E <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 - -
58 - - - - - - - -
78| <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 - -
9A - - - - - - - -
118 - - - - - - - -
18] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 - -
38 - - - - - - - -
onni| migke [1,2-0900( 1,1-C4an [ z-1,2-C4(1,1,1-F)40] 1,1,2-ry4a | FJoAA
a2 o IRy IFLY | BoaIFLy (= ok 3 oxsy IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#E{E] 0.02LLTF | 0.00260F | 0.004LLF | 0.02LLF | 0.04LLF 1LLF 0.006 LLF | 0.03LLF
E <0.002 [ <0.0002 [ <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
58 - - - - - - - -
78] <0002 [ <0.0002 | <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
9A - - - - - - - -
118 - - - - - - - -
18] <0.002 | <0.0002 | <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
38 - - - - - - - -




Fr3490n0(1,3-o450 = SN FAAY TNTR . HREERRU
TI?"/‘J oAy 7’"77.1-\ v jJ}l/j oty 2 4P iiﬁ&ﬁ;%
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B#E{E] 0.01LLF | 0.002LLF [ 0.006 LF [ 0.003LLF | 0.02LLF 0.01LLF 0.01LLF 10LLF
o <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.05
5H - - - - - - - -
78 <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 <0.02
9H - - - - - - - -
118 - - - - - - - -
18 <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.08
3H - - - - - - - -
ZTNDIEE
Jx/—)L V) SS 2mH |soofns| s
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
=B - - <1 - - -
5H ; E — — 2 — — —
=] _ _ 1 _ _ _
7R ; E — — ] — — —
= - - 4 - - -
gﬁ ;E _ _ 2 _ _ —
=] _ _ 2 _ _ _
E - - <1 - - -
—_ —_ 2 —_ —_ —_
3 [=]
H hE - = 2 - - -
R[4 BN . .
(mg/1) (mg/1) (mg/1)
EBTE] 18000 0.02 0.01
58 EE] 18000 - <0.01
B 18000 — -
78 xE 18000 <0.01 <0.01
th B 18000 — -
9K AL 17000 — -
B 17000 — -
118 xE 18000 - <0.01
B 18000 — -
18 AL 18000 0.02 0.01
B 18000 — -
35 AL 18000 — -
B 18000 - -



FRE16EE

B L CIEHKE,
S i Ty 8 mE - COD#EE! |A(##BrIA) ML TEE (ZOMOXE)
i St.4 |- SR 1 GEEIR) REKEREEE (Z)
—RIEE _
K& (°C)
Xz %R (°C) =RE e 2KE 75 B FE TR =X 2=
58 BEh 22.2 21.3 21.0 35.0 8.0 BE xE-h |
78 BEh 29.2 25.4 25.3 21.0 7.0 BE e mR
98 £ 28.7 26.0 26.1 31.0 35 BE xE-h mR
11Als2—mEn] 192 21.2 21.2 20.0 5.0 BE xE-h me
18 BEh 10.6 17.0 17.0 32.0 7.0 BE k- &R
3A|mnxEEY| 838 12.3 12.3 32.5 6.0 BE | Bt #®E
4FRIFIER
oH DO COD |XBEHH |h-~FHUH 2=TH Ex ]
(mg/1) (mg/1) | (MPN/100ml) | EH¥I & (me/l)]  (mg/I) (mg/1)
EEME| 78~83] 755 F | 20LF | 1000LLF | JEEH 0.3LLF | 0.03LLF
EHIE (75%1E) - 7.7 1.5(1.8) - <0.5 0.12 0.009
58 == 8.2 7.8 1.3 - <05 0.12 0.005
IE 8.2 8.0 1.2 - - - -
718 == 8.2 7.2 1.3 - <0.5 0.07 0.005
IE 8.3 7.2 1.5 - - - -
oF == 8.2 75 2.1 - <0.5 - -
IE 8.2 7.6 1.6 - - - -
115 == 8.3 8.1 2.0 - <0.5 0.06 0.007
IE 8.3 7.8 2.5 - - - -
1A == 8.2 75 0.8 - <0.5 0.22 0.020
IE 8.2 7.6 1.8 - - - -
3H == 8.1 8.2 0.5 - <0.5 - -
B 8.1 8.1 0.9 - - - -
BERIEE (REDHEHAD
LIS INESS E ANE/RL| #MFE fikER |7L*LKkER| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#(E] 0.01LLTF | JE#H | 0.01LLF | 0.05LLF | 0.01LLF [0.0005LLTF | FE#EH ERH |
:F _ _ — — — — — —
58 - - - - - - - -
71H - - - - - - - -
98 - - - - - - - -
118 - - - - - - - -
18 - - - - - - - -
38 - - - - - - - -
onni| migke [1,2-0900( 1,1-C4an [ zx-1,2-4(1,1,1-F)40] 1,1,2-ry4a | BJoAA
a o IAaY IFLY | AaxFLY oT4ay oT4y IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#E{E] 0.02LLTF | 0.00260F | 0.004LLF | 0.02LLF | 0.04LLF 1LF 0.006LLF | 0.03LLF
S'Z - - - - - - - -
58 - - - - - - - -
71H - - - - - - - -
98 - - - - - - - -
118 - - - - - - - -
18 - - - - - - - -
38 - - - - - - - -




Fh5400(1,3->4n0 — . s N2 N
: (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
_iéﬁ{ﬁ 0.01LLF |0.0020LF | 0.006LLF [ 0.003LLF | 0.02LLF 0.01LLF 0.01LLF 10LLF
A = = = = = = =
1H - - - - - - - -
9H - - - - - - - -
118 - - - - - - - -
18 - - - - - - - -
3H - - - - — — — -
ZTDHIEE
- RILL
Jz/—) 2] SS SE®R | JOAKRLL| 5
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
TER - - 2 : : :
RE - - <1 - - -
5ﬁ ;E _ _ <-I — _ —
=] _ _ 1 _ _ _
7R ; E — — ] — — —
=] _ _ 2 _ _ _
9H ; E — — 9 — — —
=] _ _ 3 _ _ _
= - - 4 - - -
=] _ _ 2 _ _ _
3A thiE — — 1 — - -
Bl | BEEE | omwen
(mg/1) (mg/1) (mg/1)
EBIE|_18000 - 0.01
58 EE] 18000 - <0.01
hE 19000 - -
78 xE 18000 - <0.01
th B 18000 - -
9K AL 17000 - -
B 18000 - -
118 AL 18000 - <0.01
th B 18000 - -
18 AL 18000 - 0.02
B 18000 - -
AL 18000 - -
3A g 18000 - -



TR 16 E

B L CIE DK,
S TiEH B — COD¥# R |B(E¥R) MILTERE(FHER)
) St5 EFR-SHEE I ER) RFEKEREEE(/Y)
—RIEE _
KR (°C)
Xz %R (°C) =E e 2KE 75 B FE TR =X 2=
58 BEh 22.5 23.0 24.5 11.0 6.5 BE xE-h mR
78 BEh 30.1 25.4 25.8 145 5.0 BE xE-h mR
98 £ 29.6 26.3 27.0 11.0 35 BE xE-h mR
11 BlEE—mEn] 190 26.9 215 11.0 4.0 BE xE-h mR
18 BEh 10.8 19.0 17.0 95 6.5 BE k- &R
3AlENEEY] 9.0 19.3 13.3 10.0 4.0 BE | Bt #®E
4FRRIFIER
oH DO COD |XBEHE |h-~FHUH 2L=TH EX ]
(mg/1) (mg/1) | (MPN/100ml) | EH¥IE (me/l)]  (mg/I) (mg/1)
RElE| 1.8~83] 5.0LLE | 30LLF — R H 0.6LLF | 0.05LLF
EHIE(75%1E) - 7.4 1.7(1.9) - <0.5 0.26 0.015
58 =E 8.1 7.3 1.9 - <05 0.43 0.010
IE 8.1 7.2 1.9 - - - -
718 == 8.2 7.3 1.2 - <0.5 0.08 0.004
IE 8.2 7.2 1.6 - - - -
oF == 8.2 7.9 1.3 - <0.5 - -
IE 8.2 75 1.8 - - - -
115 == 8.2 7.0 2.1 - <0.5 0.19 0.021
IE 8.2 7.6 2.9 - - - -
1A == 8.2 7.4 1.1 - <0.5 0.35 0.024
IE 8.2 75 1.0 - - - -
3H == 8.1 7.4 2.5 - <0.5 - -
B 8.1 7.6 0.9 - - - -
BERIEE (REDHEHAD
LIS INESS S E ANE/RL| #MFE ke |7L*LKkER| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#(E] 0.01LLTF | JE#H | 0.01LLF | 0.05LLF | 0.01LLF [0.0005LLTF | FE#EH JERRH |
E <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 - -
58 - - - - - - - -
78] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 - -
9A - - - - - - - -
118 - - - - - - - -
18] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 - -
38 - - - - - - - -
yani| migke [1,2-0900( 1,1-C4an [ z-1,2-4(1,1,1-F)40] 1,1,2-ry4a | BJoAA
a2y o IRy IFLY | BoRIFLy (= ok 3 oxsy IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#E{E] 0.02LLTF | 0.00260F | 0.004LLF | 0.02LLF | 0.04LLF 1LLF 0.006 LLF | 0.03LLF
E <0.002 [ <0.0002 [ <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
58 - - - - - - - -
78] <0002 [ <0.0002 | <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
9A - - - - - - - -
118 - - - - - - - -
18] <0.002 | <0.0002 | <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
38 - - - - - - - -




Fr34H0n0(1,3-o450 = SN FAAY ST . HREERRU
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B#E{E] 0.01LLF | 0.002LLF | 0.006 LF [ 0.003LLF | 0.02L8LF | 0.01LLF 0.01LLF 10ELF
o <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.11
5H - - - - - - - -
78 <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 <0.02
oA - - - - - - - -
118 - - - - - - - -
18 <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.20
3H - - — — — - - -
ZTDHIEE
Jx/—)L V) SS 2mR |soofns| e
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
el - - 1 - - -
58 ; E - - : - - -
= - - 2 - - -
7H ;E _ _ 2 _ _ —
=] _ _ 2 _ _ _
9R ; E — — > - - -
=] _ _ 2 _ _ _
=] _ _ 2 _ _ _
1 ﬁ ;E _ _ 4 — _ —
—_ —_ 2 —_ —_ —_
3 [=]
H hE - = 2 - - -
(4] BN . .
(mg/1) (mg/1) (mg/1)
SEBIE|] 17000 0.02 0.02
58 E3E] 17000 - <0.01
B 17000 — -
78 AL 18000 <0.01 <0.01
th B 18000 — -
9K AL 17000 — -
B 17000 — -
118 AL 16000 - 0.02
B 18000 — -
18 AL 17000 0.02 0.02
B 18000 — -
35 xE 16000 — -
i 18000 - -




TR 16 E

B L CIE DK,
2 gy DILE — COD#EE! | A(#HBIA) ML TEE (ZOMOXE)
) St.6 EFR-SEY I EDR) HRKCERERESE (/1))
—RIEE _
Kig (°C)
Xz %R (°C) =RE e 2KE 75 B FE iR =Xz R
58] BEh 22.2 21.5 - 9.5 7.0 BE ZE-mh mR
78] ®Bh 29.6 25.4 — 8.5 5.0 BE R - mR
98 £ 28.8 26.1 - 11.0 35 BE ZkE-mh \mR
11AlEE—eEn] 190 20.5 - 8.5 4.0 BE R - mR
18 BEh 10.6 17.0 — 11.0 7.0 BE k- &R
3A|EnEEY| 8.1 13.0 - 11.0 5.0 BE  ([Eif-th| #ES
4FRRIFIER
oH DO COD |XBEHE |h-~FHUH 2L=TH EX ]
(mg/1) (mg/1) | (MPN/100ml) | EH¥IE (me/l)]  (mg/I) (mg/1)
EEME| 78~83] 755 F | 20LLF | 1000LLF | JEEH 0.6LLF | 0.05LLF
EE(75%1E) = 7.1 1.4(1.7) - <0.5 0.16 0.010
58 == 8.1 7.7 2.2 - <05 0.24 0.006
hE - - - - - - -
718 == 8.3 7.4 1.4 - <0.5 0.10 0.005
= 8.2 75 1.7 - <0.5 - -
SR hE - - - - - - -
115 == 8.2 7.7 1.7 - <0.5 0.10 0.008
hE - - - - - - -
1A == 8.2 7.4 0.8 - <0.5 0.18 0.020
= 8.1 4.8 0.6 - <0.5 - -
38 i = = = — — — —
BEIEE (REDHEHAD
NP INESI S ) ANEivoL| #ME #ikéE |[7LxLkiR| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#(E] 0.01LLTF | JE#H | 0.01LLF | 0.05LLF | 0.01LLF [0.0005LLTF | FE#EH ERH |
:F _ _ — — — — — —
58 - - - - - - - -
71H - - - - - - - -
98 - - - - - - - -
118 - - - - - - - -
18 - - - - - - - -
38 - - - - - - - -
yani| migke [1,2-0900( 1,1-C4an [ zx-1,2-C4(1,1,1-F)40] 1,1,2-ry4a | BJoAA
a2 o IRy IFLY |BoaIFLy (= ok 3 oxsy IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B (] 0.02LLF [0.00260F | 0.004LLF | 0.02ELF [ 0.04LLF 1LLF 0.006LLF [ 0.03LL'F
S'Z - - - - - - - -
58 - - - - - - - -
71H - - - - - - - -
98 - - - - - - - -
118 - - - - - - - -
18 - - - - - - - -
38 - - - - - - - -




TEIORRILETE Fosa | veoy | TATY | xvey | wuy |MEERERU
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B{E] 0.01LLF | 0.00284F | 0.006LLF | 0.003LLF [ 0.02LLF | 0.01LLF 0.01LLF 10LLF
SF — — — — — — — —
5H - - - - - - - -
18 - - - - - - - -
9A - - - - - - - -
118 - - - - - - - -
18 - - - - - - - -
3A - - - - - - - -
ZDHIEE
Jx/—)L V) SS 2mR |soofns| e
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
RE - - 1 - - -
e e e -t s s
B - - < - - -
e e et et s s
=] — — 2 — — —
e
=] — — 2 — — —
P e e
=] — — 3 — — —
e e s s
=] — — 3 — — —
3A i — — = — - —
Bl | BEEE | omen
(mg/1) (mg/1) (mg/1)
EHIE] 18000 - 0.01
58 =B 18000 - <0.01
= 18000 - <0.01
1R ; E = — =
= 18000 - -
9A ; E = — —
= 18000 - <0.01
1A th — — —
18 =B 18000 - 0.02
= 18000 - -
3A i ~ — —




TR 16 E

B LT LK,
S i T B — coD#® |B(HE#ER) MILTEEWEEER)
) St.7 [E&-#ER DGR RFRKEREEREE (/)
—i%IEH _
K& (°C)

Xz %R (°C) =E e 2KE 1% B B TR =X k0
5H Bh 22.2 21.0 — 12.5 8.0 BE s |
78 Bh 29.0 25.3 — 145 5.5 BE xE-h |
98 =l 28.7 26.2 — 14.0 40 BE xE-h |
11 BlEE—En| 190 20.8 — 145 3.0 BE ZE-mh mR
18 BEh 11.0 16.8 — 14.0 7.0 BE ik -h| &R
3A|EnEEY| 7.0 12.9 - 12.5 5.0 BE  ([Eif-th| #ES

HEREIER
oH DO COD |XBEHM |[h-~FHoH| 2BX E
(mg/1) (mg/1) | (MPN/100ml) | EH¥IE (me/l)]  (mg/I) (mg/1)

RElE| 1.8~83] 5.0LLE | 30LLF — FERH 0.6LLF | 0.05LLF
EHE(75%1E) - 7.3 1.7(1.9) - <0.5 0.14 0.023
58 =B 8.1 7.7 1.6 - <05 0.13 0.063

hE - - - - - - -

718 xB 8.2 7.3 1.9 — <0.5 0.08 0.005
= 8.2 7.7 1.3 — <05 — —

oA hE - - - - - - -

118 xB 8.3 8.1 2.0 — <05 0.07 0.004

hE - - - - - - -

1A xB 8.2 75 2.0 — <0.5 0.27 0.020
= 8.1 5.6 1.2 — <0.5 — —
REEIER (REDHAEHAI
N INESII P E) oL it fiKEE [(7r*LkéR| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#(E] 0.01LLTF | JE#H | 0.01LLF | 0.05LLF | 0.01LLF [0.0005LLTF | FE#EH JERH |
E <0.002 <0.1 <0.005 <0.02 0.001 <0.0005 — —
58 - - - - - - - -
78| <0.002 <0.1 <0.005 <0.02 0.001 <0.0005 — —
98 - - - - - - - -
118 — — — — — — — —
18] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 — —
38 - - - - - - - -
oooni| mige [1,2->900]1,1-CHaa [P z-1,2-C4(1,1,1-F)H0[ 1,1.2-ry4a | FYS0O0

2 b 3 IR IFLY AAxIFLY axT4ay aoT4y IFLY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)

| B (] 0.02LLF [0.00260F | 0.004LLF | 0.02ELF [ 0.04LLF 1LLF 0.006 LLF | 0.03LLF

E <0.002 | <0.0002 [ <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
58 - - - - - - - -
78| <0.002 | <0.0002 [ <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
98 - - - - - - - -
118 — — — — — — — —
18] <0.002 | <0.0002 | <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
38 - - - - - - - -




Th3o0a0(1,3->9n — . sea FARY TN .

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B#E{E] 0.01LLF | 0.002LLF | 0.006 LF [ 0.003LLF | 0.02L8LF | 0.01LLF 0.01LLF 10ELF
o <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.08

5H - - - - - - - -
78 <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 <0.02
9H - - - - - - - -
118 - - - - - - - -
18 <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.13
3H - — — — - - - -
ZTNDIEE
Ix/—) & SS 2EH |(yookns 77;'?;‘|L:\F
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
ET - - 1 - - -
=] _ _ 1 _ _ _
7R ; E — — ~ ~ _ _
=] _ _ 2 _ _ _
i —— : : : -
=] _ _ 1 _ _ _
=] _ _ 3 _ _ _
=] _ _ 1 _ _ _
A —HE - - ! - - -
(4] BN . .
(mg/1) (mg/1) (mg/1)
EBTE|] 18000 0.02 <0.01
58 E3E] 19000 - <0.01
/g - - -
78 AL 18000 <0.01 <0.01
= 18000 - -
= 18000 - <0.01
118 th — — —
18 AL 18000 0.02 <0.01
= 18000 - -
3H B 0 - -



TR 16 E
B L CIE DK,
TiEYEESE ] pi- Y} | ;A O
o . CODIEE! |A(H#%EH) ’E‘EEHZ)"I
St.8 EFR-SEY I EDR) RRKEREESE (V)
—RIEE _
Kig (°C)
Xz %R (°C) =RE P E 2KE il iR =Xz R
58] BEh 22.8 19.0 - 4.0 35 BE BE-% mR
78] ®Bh 28.0 26.4 — 4.0 3.0 BE BEfkf-h| &S
98 £ 28.9 27.6 — 4.0 2.5 BE ZE-mh mR
112 —esiEn] 195 175 - 35 1.5 BE R - mR
18] ®Bh 11.0 16.0 - 4.0 >4.0 BE k- &R
3A|EnEZY| 6.9 10.2 - 3.5 35 BE -t mR
4FRIFIER
oH DO COD |XBEHE |h-~FHUH 2L=TH EX ]
(mg/1) (mg/1) | (MPN/100ml) | EH¥IE (me/l)]  (mg/I) (mg/1)
= %(8| 7.8~83] 75LLE | 20LLF | 1000LLF | JE4RtH 0.6LLF | 0.05LLF
EE(75%1E) - 7.7 1.4(1.6) 4200 <0.5 0.52 0.022
55 == 7.9 8.9 1.6 - <0.5 0.77 0.023
hE - - - - - - -
78 EAE 8.0 7.6 1.7 7900 <0.5 0.83 0.023
= 7.9 7.2 1.3 - <0.5 - -
SR B - - - - - - -
118 EAE 8.1 9.2 1.4 - <0.5 0.19 0.020
hE - - - - - - -
1A == 8.2 7.6 0.8 490 <0.5 0.29 0.021
= 8.1 5.8 1.3 - <0.5 - -
38 i = = = — — — —
BEIEE (REDHEHAD
IS INESS S & NE/RL| #MFE fikER |7r*LKkER| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| Z#EfE] 0.01LLF | JE#H | 0.01LLF | 0.05LLF | 0.01LLF [0.0005LLTF | JE#EH JERRH |
E <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 = =
58 - - - - - - - -
78] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 - -
98 - - - - - - - -
118 - - - - - - - -
1B] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 - -
38 - - - - - - - -
onni| migke [1,2-0900( 1,1-C4an [ z-1,2-C4(1,1,1-F)40] 1,1,2-ry4a | BJoAA
a2 o IRy IFLY | AaxTFLY (= ok 3 oxsy IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B (] 0.02LLF [0.00260F | 0.004LLF | 0.02ELF [ 0.04LLF 1LLF 0.006LLF | 0.03LL'F
I <0.002 [ <0.0002 | <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
58 - - - - - - - -
78] <0002 [ <0.0002 | <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
98 - - - - - - - -
118 - - - - - - - -
1B] <0002 | <0.0002 | <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
38 - - - - - - - -




7r5500[1,3-550 - oy, | TARY | o i5e .
T:l:;'-py |:|7|:|//\°> FoSL | ROV j”ij 0 A Ly  |HRRRS
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#{E] 0.01LLTF | 0.00260F | 0.006LLTF [ 0.003LLTF | 0.02LLF | 001LLTF | 001LLTF | 10LLF
I <0.001 [ <0.0002 | <0.0006 <0.0003 <0.002 <0.001 <0.001 0.34
58 - - - - - - - -
78] <0001 [ <0.0002 | <0.0006 <0.0003 <0.002 <0.001 <0.001 0.50
98 - - - - - - - -
118 - - - - - - - -
1Bl <0.001 | <0.0002 | <0.0006 <0.0003 <0.002 <0.001 <0.001 0.18
38 - - - — - - — -
ZNHIEE
I1/—) i SS LEH |rORkILL 77;'?;‘|L:\F
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
RE - - 2 - - -
B _ _ 2 - - -
B _ _ 1 - - -
B _ _ 3 - - -
B _ _ 3 - - -
B - - 4 - - -
38 i — — — — -
LY HEEE . .
(mg/1) (mg/1) (mg/1)
SFEI9TE| 8400 0.02 0.02
55 =B 3100 - 0.02
hE
78 =E 6700 <0.01 0.01
= 4700 - -
98 ;E
= 4100 — 0.02
11H8 hE
18 =E 17000 0.02 0.02
=5
= 15000 - -
38 i



